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Complete the table below about geneticists and their discoveries.
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Organize the characteristics of nucleotides by filling in the

- graphic organiver below.
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) Use your book or dictionary fo define the following terms. Then
{ook i&mug& the section 1o f‘ nd a sentence with each rerm. Write
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{ foand this informavion | Create a memary device 16 help you remember how the nitrogenous
I £ 13— bases are always paired.
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Analyze the DNA molecule by explaining how each word applies
1 1o the molecale, Use o sketeh to back up your explanation in
- each case,
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| double (as in “double helix"):
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Chromosome | Synthesize and rephrase how a DNA strand that is 200 million
Structure | bases long can fit inside a cell.
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Describa semiconservative DNA replication.
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- During replication,
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- Sequence and model each step in the replication of « DNA

molecule, Write about whut happens, and draw a DNA molecule
going through each step, In the last box, describe und draw the
products of replication,
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! found this information | Complete the table below on the role of each protein in DNA
O JARC e : replication. i?"?-w first one has been done for you.
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Section 13.1 DNA: The Molecule of Heredlty
Study the Diagram

‘When the DNA ladder replicates—copies itself—the ladder breaks apart. You can think of the ladder
breaking apart as a zipper unzipping. When the two sides of the ladder are apart, free nucleotide
bases attach to the bases already on the sides of the ladder, and two copies of the DINA are formed.
The copies are the same as the original because adenine (A) usually pairs with thymine (T). Cytosine
(C) usually pairs with guanine (G).

The diagram below shows an unzipped strand of DINA. Write the letters—A, I, C, or G—of the
bases that will pair with the bases on the strand. Some of the bases have been paired for you.
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1. True or false? Nucleotide bases already attached to proteins form the copied side of the DNA
ladder. e

2. True or false? The process of DINA replication results in a copy of the original strand of DNA.

T

3. 'True or false? Sugar and phosphates provide the energy for DNA replication.

4. True or false? The final result of DNA replication is two copies of the-eriginal DNA strand.
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DIRECTIONS. Answer the following ques:ﬁons about DNA replication in complete sentences.

1. Why does DNA replicate? {y Coil F@pi\(&m’)(\

2. |s DNA replication describe as conservative o@ Why?

3. WhatZ enzymes are used during DNA replication? Describe what each does during

replication.  in e, Caas e+ DNA ¥ AN Neqzne (\PEQ— O

4. When does DNA replication o’zgr in a cell? s QM,\)
DrNose ofF IyvyweyDYvane. Cﬁ
5. Where does DNA replication occu%r:}n a cell?
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True/False - If the statement is false, correct the statement.

T or@ Cytosine, guanine, thymine and adenine are referred to as phodphates. (\W¢. DS €0
@r F — DNA is in the shape of a helix. Aﬁ—/

To F’\’ A nucleotide is made up of a sugar. phosphate and}yﬁj’ nitrogen bases.

ﬁf ﬁr F — Replication is performed prior to cell division.

T o{f/— Adenine always pairs with guaﬁ / ssav - .
T o@,ﬁComplementary base pairing matches up complementary-suears. &j@ﬂﬁ et

T orC The sides of the DNA molecule are made up of repeating niffogenbases and sugars:
¥ oo .

Tor @ The letters that make up the DNA molecule code for genes. @

or F — Replicatlon results in two strands of DNA, each of which has half of the oriqmal strand.
T o{} Cova!er_gﬁonds hol nltrogen bases together, forming the rings of the DNA ladder.

Sentence Arrange — Put the steps of DNA replication in order by writing a number in the space before

each statement.
“ Two new molecules of DNA are created.
.Y DNA polymerase attach the free-floating nucleotides to the exposed nitrogen bases.
/_Helicase begins to break the hydrogen bonds between nitrogen bases.
.S Cell starts into the mitosis phase of the cell cycle.
Z. _ Free floating nucleotides pair up with exposed nitrogen bases.

Comp]ete the statement
L b e guanme cytosine, and thymine are the four nitrogen bases.
; ..._always forms hydrogen bonds with guanine.
NIRNTEVAY Y, _carries the genetic information of an organism
The process of. K‘}}%@i {M £ - produces a new copy of an organism's genetic information.

~ The double coiled shape of DNA is called a 'y g iay







